Answer all the questions.
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Give only one answer to each question. An example is give
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stion for each question. i
he option you have o
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‘ ‘on in developing countries:

of the following is the most common form of migration in developing

Rural-rural

Rural-urban
Urban-rural
Urban-urban

el
or space B would be shaded.
i ) e erefore answer space B
The correct answer is rural-urban, which is lettered B, and the refore
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Do all

Now answer the Jollowing questions.

Study the map of NUNA DISTRICT and use it to answer questions 1 to 10

M .
. ' any answers you wish to
Think carefully before you shade the answer spaces; erase completely any answers |

Which of the following pair of functi
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rough work in this question paper.

ons are performed by NUNA?

A, Agricultural and recreational

B. Educational and commercial

C. Industrial and agricultural

D. Recreational and industrial

The direction of flow of River Ema is

A, west,

B. south,

C. east.

D. north,

Xhat wu:l: ;:;0 new scale of the outline if the Map is enlarged to twice its original size? "

B. 1: 200,000 T

G 1: 150,000 )

D. 1: 50,000 W
%

The area of the map is approximately i

A. 150 km?, 2

B. 331 km?, '

C. 221 km?.

D. 180 km?,
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7. What is the scale of the map in statement form?
. I centimetre on the map represents ¥4 kilometre on the ground
B. | centimetre on the map represents 3 kilometres on the ground
CD' | centimetre on the map represents 2 kilometres on the ground

1 centimetre on the map represents | kilometre on the ground

8. '/l;he maill_ mode of transportation in the mapped area is by
. air.

B. rail.
C. road.
D. water.

9 The ridge in the mapped area is found mainly in the
A. west.
B. north east.
C south.
D. south west,

10. Which of the following settlements is intervisible from Ibebe?
A. NUNA :
B. Toho
C. Naso
D. - Vem

The diagram below represents the export of maize in country W from the years 2018 to 2021.
Study and use it to answer questions 11 1o 13,
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11.  In which of the following years did country W had the least production of maize for export?
A. 2021 :

B. 2018
o) 2019
D. 2020 ‘

12.  Thetotal production of maize exported by country W from the years 2013 10 2021

-
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17.

I8.

What is the name of the statistical technique used to represent the data?

A Pie chart
B.*  Bar graph
C Star graph
D. Line graph

A niver’s valley increases in length through the process of

A. headward erosion.
B. vertical erosion.

G lateral erosion.

D. sheet erosion.

I'he commentary of a football match which started 15.00 hours G.M.T in Town F located on longitude
30° W was heard in Town G at 21.00 hours G.M.T. What is the longitude on which Town G is
located?

A. 60°E
B. 45°W
C. 60° W
D. 45°E

Which of the following pair of landforms are formed as a result of compression during crustal
movements?

A. .  Plateau and escarpments

B. Inselbergs and plains

C Rift valleys and dolines '

D. Anticlines and synclines

A unique characteristics of manufacturing industr' s in Tropical Africa is
A. capital intensive.

B. large scale in plant.

C labour intensive. :

D. high level of technolou

Which of the following mem can mduoe the problem of global warming?

A. Burning of fossil fuels :
B. Apphemon of chemical femlmn »
C. Aflorestation } / ¢

i i
D. Rapid ndutndlmo?‘) :
Which of the following puro!!mon mult in high population density?
I hnadvewi_cuhle 4 -v |
1l Industrialization : g
[1I.  Inaccessibility

V. Mmuﬂaplomon

A. I and 111 only .

B. 111 and IV only

C land IVonly

D. 1 and 111 only e

Which of the follc ingw is the availability of raw materials a major consideration

Ch .
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24,

25,

26.

27.
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The most suitable mode of transportation used to convey bulky goods like bauxite

» aCross countries is

by

A. air.

B. water.
54 road.
D. rail

One relative advantage of road transportation over other modes of transportation is that
road transportation

A. is flexible.
B. saves time.
S convey bulky goods.
D. cover long distances.

The movement of people from one geographical location to another either for temporal
or permanent settlement is called

A, conurbation.

B. megalopolis. i
C. migration. b
D. transition.

(% . e
Farmsteads, hamlets and villages are examples of
A. megalopolis.

B. urban settlement.
G rural settiement.
D. conurbation.

i 1eic

A major factor that explains the establishment of industries in somc rural areas in Africa is to
A. enhance the development of rural areas.

B. cause traffic congestion in rural areas, .
C. escalate crime in rural areas. :
D. encourage rural-urban migration. g 369

! e it

The mining process where the ore is located close to the surface and involves the removal of the
overburden by excavators is

A. open cast mining.

B. deep shaft mining,

C. panning.
D. dredging. : A
AL LI =
Which of the following environmental hazards is common in the coastal areas of the West African
sub-region?
A. Drought
B. Flooding
o Deforestation
D. Mﬁm 0L
Which of the following sources of energy can be described as renewable?
A, Coal
B Solar
C. Natural gas
D. Nuclear sh

Which ofdn?ollowing is best associated with tourism?

-
~e
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Rural-urban migration results in %

A over population of rural areas
B. depopulation of rural areas. .
C. depopulation of urban areas,

D stable population in rural areas.

On September 23" each year : : :

A complen dayligh)t, P :;‘: m in the northern hemisphere experience
B.  partial darkness. j

G equal length of day and night.

D. longer period of twilight

Which of the following statements distinguishes rotation from revolution?

A. Rotation is the movement of the earth on its axis from west to east while revolution is the
movement of the earth around the sun in its elliptical orbit.

B. Rotation causes variation in the lengths of day and night while revolution causes rising and
falling of tides.

(@3 A comp!ete revolution takes 24 hours while rotation marks a year.

D. Revolution causes day and night while rotation causes seasons.

The type of climate with the highest diurnal range of temperature is the
A. hot desert climate. ~

B. cool temperate climate.

Ci mediterranean climate.

D. equatorial climate.

Which of the following best explains artesian basin?

A. Underground water in a limestone region

B. Disappearing streams in limestone regions

C. Layers of permeable rock lying between two layers of impermeable rock
D. Spring water and surface running water

Two settlements A and B are located on longitude 20° E. If settlement A is located on latitude 5° S
and settlement B is located on latitude 10° S, What is the distance in kilometres between the two

settlements?

A. 111 km

B. 1665 km

& 555 km =

D. 333 km

The steep-sided, fiat floored valley found in a hot desert area which is occasionally occupied by an

intermittent stream is called Firk

A. inselberg.

B.  gorge.

C. canyon.

D. wadi. 94.9]

Which ofmfm-m*ﬁmw with advancing shoreline?*
IC { .y AN ¥ A

A. Spit, TR Hin ‘

B.  Tombolo /B

C. M ¢ "5 LAl \% ¥
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Subtracting the minimum temperature from the maximum temperature of the day is
the method for calculating

A. mean daily temperature.
B. monthly range of temperature.
C. mean monthly temperature. -

D. daily range of temperature.

The time at the Greenwich meridian is 2.00 p.m. What will be the time at longitude 45° E?
A. 11.00 a.m

B. 5.00 am
CL 5.00 p.m

o £ 11.00 p.m

Lines drawn on maps connecting places with equal salinity are called
A. isohalines.

B. isohyets.
£ isohels.
D. isotherms.

Attrition, deflation and abrasion are processes of

A. soil erosion.
B. wind erosion.
43! river erosion.

D. coastal erosion.

Shield volcanoes are formed when there is successive eruptions of
A. basic lava.

B. hot gases.

C volcanic plug.

D. acid lava.

Coal and sandstone are examples of ; A

A sedimentary rocks.
B. volcanic rocks.

C.  igneous rocks.

D. metamorphic rocks.

The most important agent that modifies the coastline is
A. force of gravity.

B. wave.

C: wind.

D. ocean current.

The Himalayas, Andes and Atlas are examples of

A. Block mountains
B. Residuz! mountains
C Volcanic mountains
D.






